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1. Answer the following in 2-3 sentences each.

(@)
(b)
(c)
(d
(e)
€y
(2)
(h)
(i)
),

Explain "distinctiveness".

Define "inventive step".

Who is a performer?

Explain the term "Design."

Explain "government work."

Who is a Registered uses under the Trade Marks Act, 1999 ?
State the works in which copyright subsists.

Define goods.

What is a Collective Trade Mark ?

What are "Indications" ?

2. Write short notes on any four of the following:—

(@)
(b)
(©
(d)
(e)
®

Copyright Societies.
Objectives of Trade Mark Law.
Rights of Performers.
Specifications.

Producer.

Communication to the public.

3. Situational Problems. Solve,any two of the following:—

(a) Actor John wants,to apply for registration of his personal name "John" as a

(b)

Trademark for John Studios.
(i) Will John get registration of his name as a Trade-mark? Explain.

(ii) Name the Section for making the application and name the Authority.

Mr. X has invented a new method of germination of Brinjal seeds, which
grow very fast. Mr. X applies for Registration as Patent for his new invented

method.
(i) Will Mr. X succeed to get registration?
(ii)) Explain the features of a patentable invention.
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(c) Songs composed by Mr. Y the composer are sung by the students of an
educational institution during the Annual Day. Mr. X one of the student's
parent complains 'to Mr. Y, the composer, who desires to file a criminal
complaint.

(i) Is Mr. Y's complaint maintainable?
(ii) State and explain the provision of law.

4. Answer any four of the following:— 48
(a) Discuss the doctrine of "Deceptive Similarity"
(b) 'All invention are not patentable'. Discuss.
(c) State the effects of Registration of Geographical Indications.
(d) What is passing off? State the modes of passing off.
(e) "Copyright is a bundle of rights". Explain.
(f) What is Intellectual Property? Explain the types of Intellectual Property.
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